PRESSURE  PSL

10
9
8 b=
o ! 15
6 | —
2_— = &Y =
4 SRR
. FEATURES:
3 — 1. Full port,1/2*-4*CONIS-DN100)
2. WP.PNI6/40
ml\ 12 3. W.Ta-20°C-200°C¢-4°F-392°F)
4. Investment Costl
L 1 3 Bveoont raat
G N-gM 14 6. Anti-static device(option)
T 7. Locking device
8. 1805211 Mounting Pad
PRESSURE-TEMPERATURE PRESSURE-TEMPERATURE L 9. TA-Luft opproved
RATING RATING 10. IS 5211 Direct mounting pad-20198D¢option)
1400 1400 11, Flange dimension + DIN2501
90 90 12, Face to Facer DIN3202 partl-F4/FS
1200 P 1200 P
1000 =370 1000 =370
-160 -160
800 800
—50 o« 5 —50 o«
600 40 = o 40 = 15 GLAND RING 304 1
400 30 m m 400 30 M 14 NUT 304 4-6
20 g 2 13 | BT 304 4-6
200 200 N\
e % w0 12 BODY GASKET PTFE 1
0 100 200 300 400 500 T 0 100 200 300 400 500 T 1 PLASTIC COVER PLASTIC 1
0 50 100 150 200 250 C 0 50 100 150 200 250 C HQ STEM NUT 304 1
TEMPERATURE TEMPERATURE 9 HANDLE 304 1
DN15-DN50 DN65-DN100 8 [ aaowr _
7 STEM PACKING PTFE 1
DNI00 | 96 17 | M22x15 | 141 [ 197 | 320 | 190 | 158 | 180 | 220 | 20 3 18 8 | 70 | 102 | M8 | M0 6 STEM PACKING PTFE 1
DNBO | 76 17 | Me2xts | 112 | 168 | 320 | 180 | 138 [ 160 | 200 [ 20 3 18 8 [ 70 | 102 | M8 | M0 | PNI6 S BALL SEAT PTFE/RPTFE 2
DN65 | 64 14 [ m8xL5 | 105 | 1594 | 220 | 170 | 122 | 145 | 185 | 20 3 18 8 70 M8 4 STEM 316 1
DNSO | 0 14 [ m8X15 | 85 | 134 | 220 | 150 | 102 | 125 | 165 | 20 3 18 4 70 M8 3 BALL 316 1
DN40 | 38 14 | m8xL5 | 77 | 126 | 220 | 140 | 88 | 110 | 150 | 18 2 18 4 70 M8 2 CAP CF8/CFeM 1
N2 | 32 1 | M4X15 | 72 | 116 | 160 | 130 | 78 | 100 | 140 | 18 2 18 4 30 M6 PNI6 1 BODY CF8/CFaM 1
NS | 25 1 [ M4X15 | 99 | 103 | 160 | 125 | 68 | 85 [ 115 | 18 2 14 4 20 M6 PN40 NO. NAME MATERIAL Q' TY
N20 | 20 9 MI2XL5 | 54 | 95 | 160 | 120 | S8 | 75 | 105 | 18 2 14 4 42 M5
INIS | 15 9 | MI2X15 [ 49 [ %0 160 | 115 | 45 65 | 95 16 2 14 4 42 M5
SZE 2| o P K HL | H W L B | k| nm|T G M N | Bl [ B2 | M | M 2PC Flanged ball Valve (PN16-PN40)
ETG F-2/16




